
M 4 x 10                 

                   attach
         speaker box
                      here

cable
  

M 4 x 30                                                                 

Lautsprecher Teufel GmbH  .  Bülowstr. 66  .  10783 Berlin  .  Germany  .  Tel +49 (30) 3009300  .  www.teufel.eu

Instructions for assembly

Parts list:

1 base
2 columns
1 metal plate
4 x M4 x 30 screws
4 x M4 x 10 screws

      

Speaker stand M 950 P

1.  Guide the speaker cable through the one column
     with the cable output opening above its rear cable
     output opening and the base.
2.  Screw the base to both metal columns using the screws 
     (M4 x 30) and both washers.
3.  Screw the narrow metal plate to the speaker intake 
     using the appropriate screws (M4 x 10) on both columns.
4.  Attach the speaker directly to the narrow metal plate over 
     the centre hole. The M6 fastening screw for the speaker box 
     is screwed into the base of the speaker and should be 
     loosened in advance.
      

       

metal plate


